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QUESTION 1

Ann, a new user, has a workstation that has connectivity to the printer located in her department, but cannot access the
Internet. The result of an ipconfig command on Ann\\'s workstation is as follows: 

IP address: 192.168.0.124 Subnet Mask: 255.255.255.128 Default Gateway: 192.168.0.254 

Which is MOST likely preventing the user from accessing the Internet? 

A. Duplicate IP address 

B. Incorrect gateway 

C. Incorrect VLAN 

D. Bad switch port 

Correct Answer: B 

We usually give default gateway as an end device which is directly connected with ISP so in this case user has lost his
connectivity with due to wrong default gateway configured. 

 

QUESTION 2

A malicious user connects to an open wireless network and is able to copy, reassemble and play back live VoIP data
streams from wireless VoIP users. Which of the following attacks has the user performed? 

A. Man-in-the-middle 

B. Evil Twin 

C. Packet Sniffing 

D. IV attack 

Correct Answer: C 

 

 

QUESTION 3

A number of remote users have reported being unable to securely log on to the company\\'s network. Upon speaking
with some of the employees experiencing the issue, no changes were made to their configurations, usernames, or
passwords. The technician establishes a theory that one of the VPN concentrators may be down. 

Which of the following should the technician do NEXT? 

A. Plan to reboot the concentrator as the potential solution 

B. Escalate the problem to management 
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C. Continue to speak to users, questioning if changes have been made 

D. Test access to the concentrator to confirm the status 

Correct Answer: D 

 

 

QUESTION 4

Which of the following allows an administrator to reference performance and configuration information if there is a
problem on the network? 

A. Wire schemes 

B. Change management 

C. Network diagrams 

D. System baselines 

Correct Answer: D 

System baseline is the record line or changes record that administrator keep to match the effect after new configuration
with previous configuration. 

 

QUESTION 5

Which of the following cable types use pins 1 and 2 to transmit and 3 and 6 to receive? 

A. Coaxial 

B. Crossover 

C. Multimode fiber 

D. Straight-though 

Correct Answer: D 
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